R.0. STALOWA

Y273mm, L=3.5m

¢HNOUOHAZUd | auzdog Ayouox)

h.ﬂ'—l_o NMNNSAY
ANZNIa0d I4d0dd YMZVN
MXNNSAY &N g
ANQ/T0/€65 PSylwalz zsowo| ‘zul JBuw| nzpaouds | ‘0l02E0 wLva
00011 YIYAS
21U03Ha[ Oud qd WNIaY LS
MNT/00/2S zsnd zJoBazun 'zultruviyalfodd [ oudoy|uog YZNYSE
82 - €2 YNNIINVYX "IN
AYA00Y8NM 3D|M0OUD|ID0Y] [SA A
v 1T v v fauuvyjuos foozjouvy |Dals omopng | 7
&h@ APISIM 9DIMOSVT] AUMD PDZuf R-JI0LSIMNNI

Wy'o 7/6LS WAL JNans

FAfra

0111

wo «\Em VMOdhL YNONLS

/BLS Wil VNONLS a—.NNN =

<§<vm<x <2n==.m W m—aw« U
£
8
L

6612

T 1/0LS WWadK]

2
=3
<©
2
€
o
o
~
w0n
.
— &
o=
w2
2
«©
o=
a2
.
= ¥
k23
&
s
2
ks
€
-
~
S
£
(2]
.
¥

877

76 . §76/1
)

o
£
PN DOZX (TTVNVY 2 +D
017 5RO TSET <zn_.__mo§« 15012 45t
€
g
£
<
+
d
£
o
£
<
<
~—
»
G XTACS I 3
¥g o
AE o o
P
8 &
2\ 2
— J3d N o o
. D QL8 WRGGTEVA <za_.=ma (173 mmna B.« o o +
J : -
<
[ m H
2le
ﬁh 3
IS g
Sl Wy 0 2/695 YMOdAL YNONLS A
L]
NONLS sz sosiz ez 00 & +
_m 8§ L2
<[~ i
i &€
5
th|g 2
S
S m %
2 YT [ ]
WEZ="R78 NO¥ NISI — SR 1Z=DY [0Z ﬂ
IR VAOOEYA VRS GB'02Z nan& 197 o 2
é w2
tH
I
S
o
Wpo $/89
[ | \261Z-PY YNV 1 [ 1 &
q (3
X
g -4
e @
<
I
©
29
R
&
L [
8 f
H
&€
<
>
©
2
Wy'0 6/S95 WMOdAL VI _,._m a0z ol
\ m E°112=PY 0 l £
I
8 & 3
L &
~
£ g
S
5 ”
o
alE
S
o
IS
o
£
Ued
&
<o
2
- e
= +
©
2
=+
2
©
w2
of
T I I I | %
00 o
a2
&
N
oz
©
w2
==
& o3l &
w EERE
%
o
o L 15 VAT §u_.__mBe« wrls 857 = +
w2
it
l
S
©
wyg 1/09S VMOdAL YINOD x2
L]
it ez toeic a0 2 +
i o
€
<
«©
w
2
WO 6/955 WMOAL YNONLS
\ N JolL Ty nuisnzlceizlat T™~T TJe¢ 3] ] %
S 1/e8 VAddnl VRONS R 12 <
2
tH %
<
W 1/553 WadAL YNONLS B
SY3INJ N T2
o
IS COLIZ /571 90T 00 2 +
8 i »
g¢ ©
o2
e
w2
ooz £V o7
= T I AL RS R e B 31 4 T T T 1 ¢o
Wy O Z/Z55 WAOAKL VNONLS omd_u [N
3
H m &
N
o2
2
Wy 1/255 WdAL YNONLS
r) (oM NIS|
ol <
“Wro « ﬂm éEC <zn_..ﬁ 59 [ e +
P NS
€ o2
H s
<
o2
w
a2
£
S <
=0 &
4 w2
Je 2
» zmv W
SN
P %
WeZ=m2% KN NIS o
= 4
S %
<[
=|n
2 =
%
S &
[TA 174 %
AT LU
s g »
g¢ ©
-
8’
W 9/1SS WMOdhL YNG SLyie 09 -
= 74 £/TES WAOdN VRGNS e ¥
03& [
H a
s
Jre
w2
W9 G/155 VMOdhL YNONLS
M‘n N Q9L TIVNY p I %
Wyq 1/ ﬁm éEC <zn_..—mz£« [ <
m =
H 2
S
w
a2
_ EH
S 9IT 6ZEIZ LIT w &.
H i
£
B
%
WO 9/6¥S VMIdAL YNONLS
ﬁ RYIZ Tyl
El o
=
S~
st 2
g: B
S
o
-
w2
Wy'0 /675 YMAAL YNONLS uyiz 6Lt
a—| = Vil A__Hmmgaalll £
NONLS 72917 £
E o
3 8§ <
Bt 8¢ *=2
o |-
2l I
g o
SIS WhQ 1/3¥S VHOAAL YNONLS
= /S L IS 2}
- EI
D I VAGA TS VRS STaIZ CLols 11T E3 *
£ w

L=40m

Y273mm

2 RO. STALOWA

548 . $48/1
o

oy

<§<vn$_ <zn=—w sz aﬂN_N _Nw.

tH

AEY YAJdAL YNODLS

+

s4s §46/1
o

R.O. STALOWA

R.0. STALOWA

RO STALOWA

R.Q. STALOWA

g

AN

B

LS

R.Q. STALOWA

RO. STALOWA

ST

i

wyg I/RS <§1r_ <zn_2w

2 RO. STALOWA

R.0. STALOWA

%
o
NONLS 61z Z0212 €c¢ +
85
L
o
&
o
N
o
&
o
&
%
—
b
=3
<
2
o
IS 791z 72 gt 3 +
84 o
<
.fw
s
&
2
o
NGBV <zn=_mom4_~ AL %m L +
2
tH
<«
~
s
Wy ¥/L55 WTdAL YNONLS v
o
G I -
@
81 “
H
o
~
o
©
2
& 0 &
B d S
Z|@ ger 85
fak=] 2
~
L] w
g4 F
29
"
o o
00 & +
2
el
S~
©
i d
72
. L ] ¢
Y9CIZ ALz ¥TE o0 B +
o w2
L 3
2
Tz
V¥473 ~
ez m
o
+
<
&
°
i 9.3 soz 5 0 2 +
F w0
m :
<
<
wy 0 z/vsS WAIchY VNS &%
-
I +
€
g% v
H
%
Nl
Y
o
15
u , I
VHOATSEA VHENLS 0592 607 W o0 82 +
W 2
i
l
=
frd
a2
Eﬁﬁlﬁﬁl
£z |is -
z +
83
£
&
a2
w2
EE R
VAGIREYH VRO (7717 _._ § [ e *
M 2
i
>~
=S
N
T2
4 | ¢
s (503 EE« [ 8 +
8 72
g:
o
~
o
&
L ¢
= 4
a2
8 72
EH
)
=
a2
wyq /128 VHad} YOS 0802 1571 =
[ 1 ¢
= 4
85 %
LH
P
oz
w2
<
&
o
&
o
&
o
&
h N o
VAGGTSVA VRGNS 877807 ma.wﬁ w7 ) *

se1 321/1
A7)

R.0. STALOWA

1:1000

ook

£
-
+
<
<
73
oy 3[ ] +
3ﬁ<§3n§<znzms‘8~m_§ [g [
3% -
LE]
I
o
w2
[ 1 ¢
m. = ’
HH
—
S~
=1
=
72
o
.o €
=
88 ”
£
&
w2
x
72
o
+
+
£
o
US a/'66+ S6861 £¥Z ‘.
84
L
e
£
&
g
©
<
w2
m wg“m
o EHES
o
F\|lcg &
>3 — O
2\ o 3
wiEe [8
i
s\ 3
o
o o
L] +
w2
P
©
w2
i P XN
kILR & EERES
ki 72
0| 3
<
@ «
X
m Ontuw
5| O |00 2
k=
| ]
W E
=
o <
00 8 A
2
<
©
w
2
T 7
7”_ .m%um
53 gt 8
L hal=) w»
" | -1
A7 #
ol N
> V.u..n: 2
EAEE
" -
| aJ
0 @B +
2
<
©
w
2
019wl a2
=S s
- ©
"3
72
]
<
rey
2
g
=
o
= +
fre
w2
<
-
[
wyQ ¥/1SS WMTdL <za_.=m
N I I CVEI IS
Ca & o [
A m mz
L=
hLyR |19 O.ms ”
o~
[ee]
F_._
3
o
g
,V..||m
917 an e
Zl 5
&
2
" =]
¥ VNONS 5012 chelz :a op = +
w2
HH <
~
o>
=~
wy o /61 <§§.__ .«z_.u_.._m »
R
/= I b
s Sfse |
& o 3
F el Cls
N = 500 [ X
= 2
= 2
m/ -
=] +
EES
w2
jam}
[T}
=
= R=]
I AR=]
=5 a3
HEINE
Bl
W S| e A m
=AR=AR
= SI3
| E=m | D — 2
EAEE (=] m e
ClE|IA|<=|R =]
=] oS|le|Ea| =
=lzalg SN[ =
=| = | = =ARTERS
SAREIEIEIEIEE
m NS (n|vr|o|a|x




